Math 1120 Calculus Test 2.5

October 19, 1999
Show your work on these problems.

1. Let {3z +1)*+ 2! +27%} = D.
Then D =3Bz +1)?-3+ (-1)z 2+ (-3)z* =9Bzx+ 1)> — 272 — 3274
2. Let £(3z+1)(2z 4+ 5)(2? —4) = D.
Then
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D = (2°— 4)%[(3x +1)(2z+5)] + [(Bz + 1)(2z + 5)]%(1‘ —4)

= (2 —4)[(3)(2z + 5) + 3z + 1)(2)] + [(3z + 1)(2z + 5)]2z
(2° — 4)[122 4+ 17] + [62° + 172 + 5]2x

1223 + 172% — 487 — 68 + 122° + 342® + 10z

= 242”4+ 512% — 387 — 68
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3. Let Q(x) = ( )4. Find Q' (x)
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4. Let H(x) = ﬂ, where f(2) =4 and f'(2) = 5. What is H'(2)?
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D.

lim

lim newline Rationalize the numerator by multiplying by

vV3x 4+ 3h — v/ 3x
h

\/—7%, resulting in
i 3+ 3h — 3z
im
0 h(v/3z + 3h + v/32)
3h

which is the same as lim

h=0 h(v/3x + 3h +/3z)’
3

which in turn is lim Now let h — 0 to get -3

h=0 (\/3x + 3h +/3x) 2(V3z)




